	awana kasa kasa kasa sa			Co	cent Trading mpany	M/s. Woda	asol Enterprises	M/s. Mali	k Enterprises	M/s. E 8	& S Solutions	M/s. Inspire Trading Co.	
FURNITURE	CODE		SIZE	QTY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE AMOUNT
Dorm Bed	B-1	FRAME: Front Made of 50mm MDF with High Pressure Teak laminate with oak wood lipping. Back. Made of 50mm MDF with High Pressure Teak laminate from Alnoor or equivalent with oak wood lipping. (with storage space of 3'x1"x3'6" MATTRESS SUPPORTS: 4mm MDF sheet resting on Patal Ribs 3"x3/4" and Partal Frame to support Mattress.	L 6'-6" X W 3'-2" X H 1'-0"	144	29,200.00	4,204,800.00	23,000.00	3,312,000.00	73,000.00	10,512,000.00	38,000.00	5,472,000.00	
		MATTRESS: 6" Foam Matress from Master Molti Echo or equivalent as approved Size: 78inch x42 inch with 10 years warranty PILLOW		144	22,900.00	3,297,600.00	22,000.00	3,168,000.00			26,000.00	3,744,000.00	
Dorm Bed Side	ST-1	Pillow Master Matress or equivalent STRUCTURE: Made of 18mm MDF with High Pressure Teak laminate from Alnoor or equivalent with oak wood lipping. DRAWERS: Made of 18mm MDF with High Pressure Teak laminate from Alnoor or equivalent with oak wood lipping complete with S.S Knob and Premium Quality Channel Strips.	L 1'-6" X W 1'-6" X H 2'-0"	144	7,500.00	1,080,000.00	9,000.00	1,296,000.00	11,250.00	1,620,000.00	19,000.00	2,736,000.00	

MHARIS QURESHI
External Member - PC
Procurement Specialist - HEJ
University of Karachi

DR SHAHID MIR

Chairman - PC

Assistant Professor - Management

IBA Karachi

Syed Akbar Hussain Kazmi Member - PC Manager Finance (Payable) IBA Karachi

					Control of the Contro	M/s. Decent Trading Company		M/s. Wodasol Enterprises		M/s. Malik Enterprises		S Solutions	M/s. Inspire Trading Co.
FURNITURE	CODE	DESCRIPTION	SIZE	QTY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE AMOUNT
Dorm Study Desk	SD-1	WORKTOP: Made of 25mm MDF with High Pressure Teak laminate from Alnoor equivalent with oak wood lipping. STRUCTURE: Made of 18mm MDF with High Pressure Teak laminate from Alnoor or equivalent with oak wood lipping. DRAWERS: Fixed under Worktop made of 18mm MDF with High Pressure Teak laminate from Alnoor or equivalent with oak wood lipping complete with S.S Knob & Premium Quality Channel Strips.	Table Size: L 3'-6" X W 2'-6" X H 2'-6" Book Shelf: L 3'-0" X W 0'-9" X H 3'-6"	144	19,200.00	2,764,800.00	20,000.00	2,880,000.00	27,250.00	3,924,000.00	33,000.00	4,752,000.00	
		BOOK SHELF: Made of 18mm MDF with High Pressure Teak laminate from Alnoor or equivalent with oak wood lipping including batten T5 14 light Fixture											
Lounge Centre Table		STRUCTURE: Made of MDF of 50mm thick pressed with high pressure walnut laminate with 4mm thick Ashwood edge trim.	L 5'-0" X W 2'-6" X H 1'-6"	3	24,000.00	72,000.00	25,000.00	75,000.00	27,000.00	\$1,000.00	40,000.00	120,000.00	Non-Responsive, did not meet the eligibility criteria
		STRUCTURE: Made of MDF of 50mm thick pressed with high pressure walnut laminate											

M.HARIS QURESHI
External Member - PC
Procurement Specialist - HEJ
University of Karachi

DR. SHAHID MIR

Chairman - PC
Assiztant Professor - Management
IBA Karachi

Syed Akbar Hussain Kazmi

Manager Finance (Payable)
IBA Karachi

						cent Trading	M/s. Woda	asol Enterprises	M/s. Malik Enterprises		M/s. E & S Solutions		M/s. Inspire Trading Co.
FURNITURE	CODE	DESCRIPTION	SIZE	QTY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE AMOUNT
Lounge Side Table		with 4mm thick Ashwood edge trim.	L 1'-6" X W 1'-6" X H 1'-6"	6	14,000.00	84,000.00	10,000.00	60,000.00	14,500.00	87,000.00	30,000.00	180,000.00	
Single Seater	SO-1	Provide & supply fully upholstered sofa including best quality inner wood frame, master molty foam or equivalent & fabric from Project febric series & MS 16swg powder coated legs.	L 2'-6" X W 2'-6" X H 1'-6"	6	19,000.00	114,000.00	100,000.00	600,000.00	26,000.00	156,000.00	35,000.00	210,000.00	
Double Seater	SO-2	Provide & supply fully upholstered sofa including best quality inner wood frame, master molty foam or equivalent & fabric from Project fabric series & MS 16swg powder coated legs.	L 5'-0" X W 2'-6" X H 1'-6"	3	36,000.00	108,000.00	150,000.00	450,000.00	49,000.00	147,000.00	60,000.00	180,000.00	
Dorm Study Chair		Office Chair Low Back Revolving Chair -Easy height adjustment -Smooth moving castors in 360 degree. Weight capacity: More than 250 lb Brand: Boss B-514 Relax Back or equivalent Color: Maroon		1	12,500.00	12,500.00	65,000.00	65,000.00	18,000.00	18,000.00	25,000.00	25,000.00	
		Office Table TOP: Top made of 25mm MDF press with high pressure valnut laminate from Alnoor or equivalent with ashwood edge lipping. STRUCTURE:				A							

M.HARIS QURESHI

External Member - PC
Procurement Specialist - HEJ
University of Karachi

SHAHID MIR

Chairman - PC
Assistant Professor - Management
IBA Karachi

Syed Akbar Hussain Kazmi

Member - PC Manager Finance (Payable)
IBA Karachi

						cent Trading mpany	M/s. Woda	asol Enterprises	M/s. Mali	k Enterprises	M/s. E & S Solutions		M/s. Inspire Trading Co.
FURNITURE CO	ODE	DESCRIPTION	SIZE	QTY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE AMOUNT
Admn Desk AD	D-01	Side made of 2500 MDF with High Pressure valnut laminate from Alnoor or equivalent with ashwood		1	95,000.00	95,000.00	70,000.00	70,000.00	60,000.00	60,000.00	85,000.00	85,000.00	
	ļ	edge. Courtesy panel 18mm thick MDF Press with pressure laminate with ashwood edging. Complete with cable management.											
Work Station Chair		Provide & supply study chair of Master Genisis ECO LBC with A1 Fabric or equivalent		144	19,900.00	2,865,600.00	28,500.00	4,104,000.00	39,990.00	5,758,560.00	31,000.00	4,464,000.00	
Visitor Chair		Provide & supply study chair of Master Genisis ECO VC with A1		6	16,000.00	96,000.00	22,000.00	132,000.00	28,000.00	168,000.00	22,000.00	132,000.00	
Total				14,959,900.00		16,485,600.00		22,531,560.00		22,676,000.00			
GST Grand Total Amount						2,692,782.00 17,652,682.00		2,967,408.00 19,453,008.00		Inclusive 22,531,560.00		4,081,680.00 26,757,680.00]

M.HARIS QURESHI

External Member - PC Procurement Specialist - HEJ University of Karachi R. SHAHID MIR

Chairman - PC
Assistant Professor - Management
IBA Karachi

Syed Akbar Hussain Kazmi

Member - PC

Manager Finance (Payable)

IBA Karachi